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0.6+2.4= 7.5—4. 2= 2X0. 24=
3.5+2.8= 3.1—-2.7= 0.2X2.4=
7.4+8. 1= 10. 8—7.5= 0.02X24=
10. 3-+9. 7= 25.6—4.8= 20X0. 024=
0.484-0. 52= 8.68—0.58= 1.2X8=
4.65+0. 45= 6.34—1.27= 0.6X16=
3.4842.52= 10. 35—3. 25= 3X3. 2=
12.13+10. 25= 24.18—0.09= 0.4X24=
6-+2.4= 7—5.6= 3.4X0. 5=
4.2-+42= 0.5—0.03= 1.6X2.5=
3.6+36= 5—3.5= 0.81X5=
10. 5+15= 10—2.6= 0.6X0.5=
6. 72+0. 28= 25.1—0.3= 0.25X0.4=
8.242.8= 7.52—1.3= 0. 24 X50=
5.25+1. 34= 8.2—0.02= 1.25X2=
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(1)
14=2= 420+=70= 50—+—25=
19+-3= 450-+-30= 26—13=
40-+—-2= 360—30= 48—12=
8+—3= 320+—80= 90—+—-22=
9—4= 48-—-60= 93+—31=
23-+—23= 160—40= 96-+—32=
36+—4—= 16—-40= 56 +—14=
26—5= 208—4= 100+-25=
63+—7= 350-+—50= 201-—50=
32+—8= 12--30= 200—100=
25—6= 200+—40= 90+15=
40-—5= 360-+-60= 84-—-12=
39+-3= 20--50= 200—25=
30+-9= 515=+5= 40—7=
50—5H= 770-+—7= 75—15=
I - - —
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(2)
12=+-1= 24—1= 48=1X( )
12+-2= 24—2= 48=2X( )
12+3= 24-+-3= 48=3X( )
12-+4= 24——4= 48=4X( )
12=+-6= 24—6= 48=6X( )
12-+-12= 24-—8= 72=1X( )
30+-1= 24--12= 72=2X( )
30+2= 24--24= 72=3X( )
30=—10= 45-=-9= 26=1X( )
30—+15= 45-=-15= 26=2X( )
30—3= 45-=+1= 80=1X( )
30+—=5= 45-+-3= 80=2X( )
30+6= 45-=-5= 80=4X( )
30-—30= 45—45= 80=5X( )
36—6= 25+5= 80=8X( )
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30X 1= 12 1= 25X 1=
30X 2= 12X 2= 25X 2=
30X 3= 12X 3= 25X 3=
30X 4= 12X 4= 25X 4=
30X 5= 12X 5= 25X 5=
30X 6= 12X 6= 25X 6=
30X 7= 12X 7= 25X 7=
30X 8= 12X 8= 25X 8=
30X 9= 12X9= 25X 9=
30X 10= 12X 10= 25X 10=
30X 11= 13X 1= 36X 1=
30X 12= 13X 2= 36X 2=
30X13= 13X 3= 36X 3=
30X 14= 13X 4= 6ot
B0X15= 13X 5= 36X 5=
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(4)

60X 1= 60=1X( ) 15-+-5=
60X 2= 60=2X( ) 20+5=
60X 3= 60=3X( ) (154+-20)+5=
60X 4= 60=4X( ) (20—15)+5=
60X 5= 60=>5X( ) 18--9=
60X 6= 60=6X( ) 27+-9=
24 X 1= 24=1X( ) (18+4-27)+9=
24X 2= 24=2X( ) (27—18)+9=
24 X 3= 24=3X( ) 54-—6=
24X 4= 24=4X( ) (30+54)+6=
120X 1= 120=1X( ) (54—30)+6=
120X 2= 120=2X( ) 24+-8=
120X3= 120=3X( ) 64--8=
120 X4= 120=4X( ) (64+-24) 8=
120 X5= 120=5X( ) (64—24)+8=
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2X10= 50+2= 70 )
2X11= 52--2= 55( )
2X12= 54-+2= 132( )
2% 3= 56-+-2= 758( )
2X14= 58-2= 469( )
2X15= 90+ 2= 8016( )
2X16= 82-+2= 1100¢ )
2X17= T4=2= 77( )
2% 18— 66+—2= 104( )
2X19= 68-+2= 481( )
2X20= 70+2= 229( )
2X21= 62--2= 150( )
2X22= 84-2= 512( )
2X23= 96+ 2= 998¢( )
2% 24— 38+2= 889( )
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5X20= 60—5= 100+—-(2X5)=
S5X21= 65+5= 100+-2-+-5=
oX22= 70-—5= 480+ (2X5) =
5 X23= 75-+—5= 480—+—2-+5=
oX24= 80—+5= 240+ (2X5) =
SX25= 85+5= 240-+2-+-5=
oX26= 90-+-5= 130+(2X5)=
S5X27= 95+5= 130+-2-+-5=
oX28= 250—5= 900+ (2X5)=
5X29= 400—5= 900=+2-+-5=
oX30= 450--5= 600+ (2X5)=
5X31= 505+5= 600+2-—-5=
oX32= 550+—5= 360 (2X5)=
5 X33= 600=+—5= 360+—2-—-5=
oX34= 255=+5= 360=+-5+—2=
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45-+3= (4+5)+3= 54+3=
36+3= (3+6)+3= 63+3=
120+3= (1+2+0)+3= 210+3=
27+3= (2+7)+3= 72-+3=
105+3= (1+0+5)+3= 150+3=
66+3= (6+6)+3= 666+3=
111-+-3= (1+1+1)+3= 222+3=
609+-3= (6+0+9)+3= 906+3=
15+3= (5+1)+3= 51+3=
57+3= (7+5)+3= 75+3=
18+3= (1+8)+3= 81+3=
306+3= (3+0+6)+3= 603+3=
540+3= (5-+4+0)+3= 504-+3=
153+3= (1+5+3)+-3= 135+3=
261+3= (2+6+1)+3= 216+3=
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24--2= 24-+-3= 24— (2X3) =
42-=-2= 42--3= 42--6=

102-+-2= 102--3= 102+-2-+-3=
100-+-2= 100=+-5= 100+ (2X5) =
60-+—2= 60-—5= 60-+—10=

20—2= 20-—5= 20+—2--5=
600+—3= 600=+—5= 600+ (3X5)=
240-+3= 240-+-5= 240—15=
405-+-3= 405+5= 405+3=+5=
30—-(2X3)= 30—=(2X5)= 30+ (2X3X5)=
300—3= 300+5= 300+=3=+5=
450-+-3= 450-+-5= 450+-3=+5=
750+—3= 750+—5= 750=—15=
180=+(2X3) = 180-=+(2X5) = 180+ (2X3X5)=
240=—-(2X3)= 240+ (2X5) = 240 (2X3X5)=
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2. 0%,

99-+-9=

72--9=

54-+-9=

234--9=

270—-9=

360—-9=

468-+-9=

225-+9=

162-+-9=

324-=-9=

630+—9=

918+—9=

333+—9=

720—-9=

819-+9=
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7+15=

16 X3=

405-+-9=

TX113=

25 X4=

64X 2=

75X 3=

3X42=

125X 80=

35 X40=

24 X5=

oX16=

6 X15=

17X3=

29X 5=

3. REI S EX

549-9=
13X 7=
92-+4=
82-+2=
160-+20=
15X 40=
615=3=
41X 45=
540=3=
306 6=
150+5=
87+3=

49-+-7=

13+

23-+(

11+

54 (

12X (

20=3-+(

12=(

(

3X(

400 (
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25 X3=

62X 3=

25 X40=

12X9=

540—-9=

93X 2=

14 X6=

18X 5=

3X35=

60+-15=

16 X7=

28 X 5=

oX51=

15X 4=

26 X5=
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63+—7= 24=(
o4-=-3= 18=5+(
85+5= 42=(
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16 X5= 50=134(
305+0= 23=(
90—=+15= 40=(
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3.5+4.3+2. 7= 11.5X4= 80+—4—16=
7.5+12+2.5= 22X 4= 600—4—120=
2.4+2.5+2. 6= 7.5 X 4= 100+—4—23=
20+3. 8+6. 2= 30 X4= 12+—-4—0.5=
5.74+2.3+1.7= 9. 7X4= 20—4—3. 6=
3.5+1.5+0. 7= 5.7X4= 6—4—0. 7=
4,645, 84, 2= 14. 6 X4= 40-—4—5, 3=
0.7+2.5+1.3= 4.5 X 4= 16+-4—2.5=
9+5.8+2. 2= 18X 4= 10+-4—1.5=
12. 5+16+47. 5= 36 X4= 6.4—4—0.9=
7.1+3.2+2.9= 1. 9X4= 48—=+—4—10=
13+5.5+4. 5= 33X 4= 8.4—4—1.6=
4, 34+15+2. 7= 27T X 4= 5.2--4—0. 7=
5.64+3.4+0.9= 5.5 X4= 24+—4—3.5=
3.842.2+11= 12.2X4= 56+—4—9=
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1.5X12=

3X12=

256 X12=

0.3X12=

1. 3X6=

0.3X6=

15X6=

13X 8=

50X 6=

4, 1X6=

1.2X6=

4 X12=

0.5X12=

6X12=
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1. K15 IRRIETS BROYTATR 7
5
ES®
6+—12= (2.3+1.3)+12=
72--12= (68—8)+—12=
0.36=+12= (23—1D=12=
360=12= (4+3) X12=
4,2-+6= (l.2+1.2)+12=
0.24-—-6= (13.2—6.2) X6=
480=—12= (5.6+4.4) X4=
560=+-8= (13+27) X6=
4,8=12= (14+34) ~6=
600=12= (38—14) 4=
84-+-6= (3.3+2.7)+6=
9.6+8= (12+11) X6=
240-=12= (1.1+1. ) X4=
4--8= (2.5+1. DH—~12=
33.6+8= (5+4) X12=
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(1)

0.7X0.3X2= (4.6+7.4)X2= 4X645=
0.4X0.5X4= (4. 5X2) X2= 0.3X4+0.8=
50X 40X 2= (27+43) X2= 8X4+2=
40X0. 6 X2= (2.5X2) X2= 1.5X4+2. 6=
3.0X4X2= (16+24) X6= 2. 5X4+1.5=
50X 2. 5X4= 20X 3X4= 10X4+5=
0.7X0.4X2= (20—11.5) X2= 60 X4+40=
16X0. 5 X2= (16+2) X4= 16 X4+2=
10X11X4= (10+11) X4= 3. 5X4+46=
2.4 X5X2= (12+13) X4= 1. 25X4+3=
9X0.5X2= (3.5 X2) X2= 7.5X44-8=
0.6X0.8X2= (17—13.5) X2= 25X44-12=
20X 1. 2X2= (11+14) X4= 20X4+30=
1. 2X5X4= (10—2.5) X2= 1. 2X44-3=
20X 20X 4= (55-+35) X 2= 6. 1 X4+45=
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(2)
20X20X5= 5X5X5= 0. 3X0.3X4=
0.2X0,2X5= 10 X10X4= 0.4X0.4X5=
IXIX1= IXIX 6= SX5X12=
6 X4 X5= 2.5 X2.5X4= 0.1X0.1X8=
0.9X0.9X2= 2.5X2.5X8= 1.5X1.5X6=
0.6X0,6X5= 14 X 14 X5= 0. 8X0.8X5=
20X20X4= 0.3X0.3X6= 1.2X1.2X5=
0.5X0.5X6= 0.4X0.4X4= 0.5X0.5X5=
1. 5X1. 5X4= 0.2X0.2X10= 0.1X0.1X9=
10X10X6= 30X30X5= 1.6 X1. 6 X5=
EXEXE5= 4 X4 X5= 0.3X0.3X5=
30X30X4= 6 X6X5= 1.1 X1.1X5=
0.3X0.4X5= 20X20X6= 0.1X0.1X6=
0.3X0.3X3= 12X12X5= 0.3X0.3X2=
0.7X0,7X2= EXEX 6= 0.1X0.1X7=
B SRR
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(3)

22X 6= 5X6+2X4= 12X10X4=
3X3IXK6= 3X5+10X7= 7.5X2X4=
20 X 6= 2XT7T+3X5= 17+8+6=
0.4X0.4X6= 9X8+3X2= 9X10+7X2=
60X60X6= 8X5+6X7= 3EX6=
92X 6= 10X8+5X6= 307 X2+100=
10* X 6= 7X9430X4= 79+11+60=
12X6= 2X5+7X5= 7.1X5+4+30=
2X2X6= 24 X2+5X8= 61 X40=
52X 6= 4XT7+5X6= 380X 2+40=
42X 6= 9X5+3XT7= 1.5X20+10=
6% X 6= 6 X8+3X8= 85+15+30=
7P X 6= 5X6+4X3= 101 X3+200=
82X 6= 6X10+7X2= 25 X3 X4=
92X 6= 7TX8+8X5= 12X5+50=

2 E,-ia-ia -------------------------------------------------------------------------------
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3. K1 R0 E DS iR A9 fikiff: ]
)
IR TSR ETE (1)
0. 45X 4= 2X2X0.4= 20X2—15=
40X 5= 2. 4 X2 X50= 0.3X0.5+1=
3.6 X4= 1.6 X3X0., 2= 3. 1X0.3+2=
5.04X 3= 16X0. 5X8= 2. 7X3+2=
2.3X0.4= 1.5X4X3= 0.4X3+3=
2.6X0. 2= 0. 01 X180X2= 5X3+2=
1. 05 X6= 3.6 X4 X5= 5X5—15=
1. 8X5= 1. 5X8X5= 4 X8+5=
2.4 X3= 1. 6X0.5X4= 7TX3—0.4=
1. 25X0. 8= 2.6X0.1X10= 1. 2X3+5=
3.5 X4= 2. 2X2X5= 15X3—10=
5.5X2= 3.5X10X0. 1= 0.2X0.7+1=
3.7X3= 1. 5X2X3= 3.5X2+3=
2.3 X4= 2.5 X3 X4= 1. 8X3—4=
1. 7X5= 1. 8 X5X20= 7TX6—15=
2 E,-ia-ia -------------------------------------------------------------------------------
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3. K15 ik 1E ¥ B3 {rhifd

BTIRFBFIRER(2)
22= 5.4 X2X0,5= 90— (6X5)=
3X3= oX13X4= 90+6-—5=
3+3+3= 1. 5X0. 3X2= 1. 05X (70+7)=
3X3INK3= 1. 6 X2X5= 1. 05 X70=+-7=
3= 12. 5X3X8= 1. 057 X70=
4 X 3= 0.5X0.5X2= 64-—16=+2=
444+4= 1. 2X1.2X5= 40X 5=+8=
4 X4 X 4= 4 X4 X5= 35 X8=+-T7=
43 = 20X 20X6= 4,84 X0.2)=
10°= 0. 3X0. 3X200= 0. 8X3X3=
OX 3= 10X10X6= 3.2—4X8=
5+5+5= 0.2X0.2X100= 0 X0.6+3=
o X5 X5= 30X 30X4= 4-=-0.8X0. 2=
5= 2.5X10X4= 2.7=0.3+3=
6°= 1. 5X2X5= 5.8+ (4 X0.5) =
2 E,-ia-ia -------------------------------------------------------------------------------
x| Fint 4 B, st L
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2.6=0.5=

2.7—=3=

1.28=+0. 2=

0.6+1.2=

0.72-0. 8=

0.72-—6=

2.8+—0.4=

9.1=-0.7=

3.9-+0.3=

0.99-+-3=

9. 6+24=

EaBasew TAERHF T (R)

3. K5 BRIE 5 BB 5
5
EIR A IRETR (3)
7.6—5+0.4= (3. 746.3)+4=
1.6-0.4= 9X4-=-3=
47 8= 0.6=0.3+2=
0. 4—2-+-3= 14 X4--7=
0.6+-3X3= 8§+2-0.8=
120+6-+4= 26+ (4X2.5)=
15X4-=-20= §+—8X5=
12--5-+2= 0.25-—-5=+5=
S+ oX4= 60-=+—15=+2=
11-+-5=+2= 4, 8+2-+4=
10X5.4=+9= 0F2.0+2=
4,8=+1.6X3= 0.8=+0.4=+10=
24-+-30=+2= 12X3=6=
0.16—-8--0. 2= 32+—4-=2.5=
2.1+0.7+3= 7.5+3X4=
R — 2 T
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3. K5 BRIE 5 BB 5
&
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Im”=( )dm” 4. 3m* =( )dm’ 4, 03m” = ( )dm?
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